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Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

Which of the states was earlier known as North East Frontier Agency?  / कौन सा
राǿ पहल ेउΟर पवू└ सीमातं सэंथा के ╜प म┼ जाना जाता था?

West Bengal / पिמम बगंाल

Arunachal Pradesh / अ╛णाचल ▀दशे

Assam / असम

Orissa / उड़ीसा

Correct Answer :­Arunachal Pradesh / अ╛णाचल ▀दशे 

2)

Question Stimulus :­

The _________ manages the public debt of Central and State Governments. / 
____के䋈祀 और राǿ सरकारो ंके साव└जिनक ऋण का ▀बधंन करता ह।ै

Bank of India / ब╒क ऑफ इिंडया

State Bank of India / 《晥टे ब╒क ऑफ़ इिंडया

Reserve Bank of India / δरजव└ ब╒क ऑफ इिंडया

Union Bank of India / यिूनयन ब╒क ऑफ इिंडया

Correct Answer :­Reserve Bank of India / δरजव└ ब╒क ऑफ इिंडया 

3)

Question Stimulus :­

A call center company had to arrange transportation for its employees. They asked for
quotes from different provider agencies and the following are the options they got: / एक
कॉल स┼टर कंपनी को अपन ेकम└चाδरयो ंके िलए पδरवहन की יवэथा करनी थी। कंपनी न ेअलग अलग ▀दाता एज┼िसयो ंसे
बात की और उ⼼㰊┼  िन簿윘 िवकֽ िमल े:

A. This option allows having uniform rate for day and night trips. This would cost you
Rs.1000 per trip. / A. यह िवकֽ िदन और रात की या耀ըा के िलए समान दर होन ेकी अनमुित दतेा ह।ै इसम┼ ▀ित या耀ըा



आप का 1000 का खच└ आएगा।

B. This option has differential fare for day and night trips. Day trips would cost 700 per trip
and night trips would be charged 1200 per trip. / B. इस िवकֽ म┼ िदन और रात की या耀ըा के िकराए म┼
अतंर ह।ै िदन की या耀ըा ▀ित या耀ըा 700 लागत आएगी और रात की या耀ըा म┼ ▀ित या耀ըा 1200 वसलूा जाएगा।

C. This option charges depending on the total distance covered in a trip. It charges Rs.800
per trip if trip distance is more than 50 KM and Rs.1100 if trip distance is less than 50KM. /
C. इस िवकֽ म┼ एक या耀ըा की कुल दूरी के आधार पर श№ु िलया जायगेा। इसम┼ ▀ित या耀ըा 800 ╜पए िकराया होगा यिद
या耀ըा दूरी 50 िक. मी. स ेअिधक होगी और 1100 ╜पए िकराया होगा यिद दूरी 50 िक. मी. स ेकम होगी।

If the company has 3 night trips and all less than 50KM and 3 day trips less than 50KM,
which would be the best option? / यिद कंपनी के पास 3 रात या耀ըाएं ह╒ और सभी 50 िकलोमीटर स ेकम और 3
िदन की या耀ըाएं ह╒ जो 50 िकलोमीटर स ेकम की ह╒, तो कौन सा िवकֽ सबस ेअŜा होगा?

A

B

C

B or C / B या C

Correct Answer :­B 

4)

Question Stimulus :­

If cream cracker means computer programming, and its not cream cracker, then it’s
not programming. / यिद ╡ीम ╡ैकर का मतलब कं瑳‾टूर ▀ो╣ािमगं ह,ै और यह ╡ीम ╡ैकर नही ंह,ै तो यह ▀ो╣ािमगं
नही ंह।ै

True / सही

False / गलत

Maybe / हो सकता है

Irrelevant / अ▀ासिंगक

Correct Answer :­Maybe / हो सकता ह ै

5)

Question Stimulus :­

This company, founded by Dhirajlal Hirachand Ambani, started off by trading spices. / यह कंपनी धीरजलाल
हीराचदं अबंानी ύारा эथािपत, मसाल ेके יापार स ेश╜ु की गई थी।

Infosys / इनफ़ोिसस



Tata / टाटा

Jindal / िजदंल

Reliance / δरलायसं

Correct Answer :­Reliance / δरलायसं 

6)

Question Stimulus :­

The propor�on of Rajya Sabha members re�ring every 2 years is / हर 2 साल म┼ सवेािनवΟृ होन ेवाल ेराǿसभा सद〰〰ों
का अनपुात है

100%

50%

33%

None of these / इनम ेस ेकोई नहीं

Correct Answer :­33% 

7)

Question Stimulus :­

In which year was Shivpuri established as a national park? / िकस साल म┼ िशवपरुी को राױ├ीय पाक└ के ╜प म┼ эथािपत
िकया गया था?

1958

1978

2008

1998

Correct Answer :­1958 

8)

Question Stimulus :­

Ustad Zawad Ali Khan sings in this style of  music / उꎓ∀ाद जवाद अली खान सगंीत की इस
शलैी म┼ गात ेह╒:

Carnatic / कना└टक



Thumri / ठुमरी

Hindustani / िहپदुꎓ∀ानी

Dhrupad / ╫पुद

Correct Answer :­Thumri / ठुमरी 

9)

Question Stimulus :­

Which of the following was once a capital city of the Bundelas? / िन簿윘 म┼ स ेकौन सा शहर कभी बुंदले की राजधानी
╟आ करता था?

Bhind / िभडं

Shivpuri / िशवपरुी

Chhatarpur / छतरपरु

Orchha / ओरछा

Correct Answer :­Orchha / ओरछा 

10)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ㈶〰िױ
स ेनीच ेिदए गए कथन के समान ह ै:

If you pass in English, then you will pass in maths. / अगर आप अ╣ंज़ेी म┼ उΟीण└ होत ेह╒, तो आप
गिणत म┼ उΟीण└ होगं।े

If you don’t pass in English, then you will not pass in maths. / अगर आप अ╣ंज़ेी म┼ उΟीण└
नही ंहोत ेह╒, तो आप गिणत म┼ उΟीण└ नही ंहोगं।े

If you pass in maths, then you will pass in English. / अगर आप गिणत म┼ उΟीण└ होत ेह╒, तो आप
अ╣ंज़ेी म┼ उΟीण└ होगं।े

If you haven’t passed in maths, then you haven’t passed in English. / अगर आप गिणत
म┼ उΟीण└ नही ं╟ए, तो आप अ╣ंज़ेी म┼ उΟीण└ नही ं╟ए।

If you haven’t passed in maths, then you have passed in English. / अगर आप गिणत म┼
उΟीण└ नही ं╟ए, तो आप अ╣ंज़ेी म┼ उΟीण└ ╟ए ह╒।

Correct Answer :­If you haven’t passed in maths, then you haven’t passed in English.
/ अगर आप गिणत म┼ उΟीण└ नही ं╟ए, तो आप अ╣ंज़ेी म┼ उΟीण└ नही ं╟ए। 



11)

Question Stimulus :­

In column I are listed certain groups of individuals while in column II are listed some of
the characteristics against each group of individuals which are common to each member of
that group. / ꎓ∀भं I िविशי ױε♣गत समहूो ंको सिूचत करता ह,ैजब िक ꎓ∀भं II हर יε♣यो ंके समहू कुछ
िवशषेताओ ंको सिूचत करता ह ैजो उस समहू के हर एक सद〰〰 के िलए सामा摮攊 ह।ै   

 

Which individual has all the above characters? / कौन स ेיε♣ के पास  उपरो♣ सभी िवशषेताएँ ह╒?

H

I

J

M

Correct Answer :­I 

12)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements:  / कथन:

All dots are lines  /  सभी िबदं ुपεं♣या ँह╒

All lines are triangles  /  सभी पεं♣या ँि耀ըकोण ह╒

Conclusions:  /  िनתष└:

I. All dots are triangles / I.  सभी िबदं ुि耀ըकोण ह╒

II. All triangles are dots  /  II. सभी ि耀ըकोण िबदं ुह╒



Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िनתष└ I िनकलता ह ै

13)

Question Stimulus :­

Which is the smallest memory size?  / कौन सी सबस ेछोटी ममेोरी साइज (㈰〰िृत आकार) ह?ै

Megabyte / मगेाबाइट

Terabyte / टरेाबाइट

Gigabyte / गीगाबाइट

Kilobyte / िकलोबाइट

Correct Answer :­Kilobyte / िकलोबाइट 

14)

Question Stimulus :­

Given that / िदया ╟आ है

i. P is the mother of Q; / P,Q ;

ii. R is the son of P; / R, P;

iii. S is the brother of T; / S, T ;

iV. T is the daughter of Q; / T, Q ;

 

The grandmother of S is? / तो S की दादी ह╒?

P

Q

R

S



Correct Answer :­P 

15)

Question Stimulus :­

First president of the Indian National Congress was / भारतीय राױ├ीय का╣ँसे के ▀थम अЄā थे

WC Bannerjee / ड忑�सूी बनैज┬

Annie Beasant / एनी बसेटं

Badruddin Tyabji / बद╜νीन तयैबजी

George Yule / जॉज└ यलू

Correct Answer :­WC Bannerjee / ड忑�सूी बनैज┬ 

16)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements:  / कथन:

Some men are kids.  /  कुछ लोग बŗ ेह╒।

Some men are not bald.  /  कुछ लोग गजं ेनही ंह╒।

Conclusions:  /  िनתष└:

I. All bald are kids.  /  I. सभी उ▐ बŗ ेह╒।

II. All kids are men / II. सभी बŗ ेआदमी ह╒।

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता ह ै

17)

Question Stimulus :­



Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ㈶〰िױ
स ेनीच ेिदए गए कथन के समान ह ै:

"It is not true that both George and Andrew are rich.”/ यह सέ नही ंह ैिक जॉज└ और एंड╚  दोनो ंही
अमीर ह╒।

George is not rich or Andrew is not rich. / जॉज└ अमीर नही ंह ैया एंड╚  अमीर नही ंह।ै

If George is not rich, Andrew is not rich. / अगर जॉज└ अमीर नही ंह,ै तो एंड╚  अमीर नही ंह।ै

If Andrew is not rich, George is not rich. / अगर एंड╚  अमीर नही ंह,ै तो जॉज└ अमीर नही ंह।ै

Andrew is not rich and George is not rich. / एंड╚  अमीर नही ंह ैऔर जॉज└ अमीर नही ंह।ै

Correct Answer :­George is not rich or Andrew is not rich. / जॉज└ अमीर नही ंह ैया एंड╚  अमीर नहीं
ह।ै 

18)

Question Stimulus :­

If the figure on le� is folded to form a cube, then a�er fold how would it looks like? / यिद बायी ंतरफ की आकृित को
घन बनान ेके िलए फोֵ िकया जाए,तो फोֵ के बाद वह लगगेी?



Correct Answer :­  

19)

Question Stimulus :­

The cape route from Europe to India was first discovered by / यरूोप स ेभारत के केप माग└ का आिवתार सबसे
▀थम इ⼼㰊ोनं ेिकया था ।

Amerigo Vespucci / अमδेरगो वसेप☺ुी

Vasco­da­gama / वा摮攊ो िडगामा

Alfonso d’Albuquerque / अ־ोसंो डी’ अलबकुक└

Columbus / कोल㚾鴒स

Correct Answer :­Vasco­da­gama / वा摮攊ो िडगामा 

20)

Question Stimulus :­

Six friends A,B,C,D,E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. / छह िम耀ը A,B,C,D,E और F क┼╪ की ओर मखु
िकए ╟ए बदं वΟृ म┼ बठैे ह╒। E, D के बायी ंओर ह।ै C, A और B के बीच म┼ ह।ै F, E और A के बीच म┼ ह।ै

Who is to the right of C? / C के दािहन ेओर कौन ह?ै

E

F

B

A

Correct Answer :­A 

21)



Question Stimulus :­

What is Nepanagar in Madhya Pradesh is known for? / मЄ ▀दशे म┼ नपेानगर िकसके िलए जाना जाता ह?ै

Manganese Mines / म╒गनीज खान

Newsprint Paper Mills / अखबारी कागज िमल┼

BHEL / भले

Bauxite Mines / बॉċाइट खान

Correct Answer :­Newsprint Paper Mills / अखबारी कागज िमल┼ 

22)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकֽ चिुनए
जो िदए गए कथनो ंएव ंिनתष╗ के बारे म┼ सही ह।ै

Statements: /  कथन:

All teachers are students  /  सभी िशāक छा耀ը ह╒

All students are professors  /  सभी छा耀ը ▀ोफेसर ह╒

Conclusions:  /  िनתष└:

I. All teachers are professors / I.  सभी िशāक ▀ोफेसर ह╒

II. All professors are teachers / II.   सभी ▀ोफेसर िशāक ह╒

Only conclusion I follows / केवल िनתष└ I िनकलता है

Only conclusion II follows / केवल िनתष└ II िनकलता है

Both conclusion I and II follows / दोनो ंिनתष└ I और II िनकलत ेह╒

None of the conclusion I or II follows / िनתष└ I या II म┼ स ेकोई नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िनתष└ I िनकलता ह ै

23)

Question Stimulus :­

In which year did India sign Kyoto Protocol? / िकस साल म┼ भारत न ेℓोटो ▀ोटोकॉल पर हꎓ∀ाāर िकया था?

2003



2005

1999

2002

Correct Answer :­2002 

24)

Question Stimulus :­

A,B,C,D,E and F are members of a club. There are two married couples in the group. A is
the brother of D’s husband. C is the president of All India Working Women’s
Association. F, a sitarist, is a bachelor. B’s wife is not a member of the club. Four of
them belong to the same family. B and F are colleagues in the same organization. /
A,B,C,D,E और F एक □ब के सद〰〰 ह╒। इस समहू म┼ दो िववािहत जोड़ ेह╒। A, D के पित का भाई ह।ै C ऑल
इिंडया विक┤ग िवमने एसोिसएशन की अЄā ह।ै F, एक िसतारवादक, कुँवारा ह।ै B की पΤी इस □ब की सद〰〰 नहीं
ह।ै इनम┼ स ेचार יε♣ एक ही पδरवार के सद〰〰 ह╒। B और F, एक ही सगंठन म┼ सहकम┬ ह।ै

Who is married to C? / C स ेिकसकी शादी ╟ई ह?ै

A

B

A or B / A या B

E

Correct Answer :­A 

25)

Question Stimulus :­

At an Electronic Data processing unit, five out of the eight program sets P,Q,R,S,T,U,V and
W are to be operated daily. On any one day, except for the first day of a month, only three
of the program sets must be the ones that were operated on the previous day. The program
operating must also satisfy the following conditions: / एक इल♂े├ॉिनक  डटेा ससंाधन इकाई पर,
P,Q,R,S,T,U,V और W आठ म┼ स ेपाचँ काय└╡मो ंको हर िदन चलान ेका िनधा└रन िकया| मिहन ेके पहल ेिदन छोड़कर
िकसी भी एक िदन, केवल तीन काय└╡म ऐस ेहोन ेचािहए जो िपछल ेिदन चलाए गए। ▀चालन ▀ो╣ाम िन簿윘 शत╗ के अनसुार
होना चािहए।    

1. If program P is to be operated on a day, V can’t be operated on that day. / 1. अगर P
╡ाय└╡म को िकसी िदन चलाना ह,ै तो उस िदन V को चलाया नही ंजा सकता।

2.  If Q is to be operated on a day, T must be one of the programs to be operated after Q. /
2.  अगर Q ╡ाय└╡म को िकसी िदन चलाना ह,ै तो T ╡ाय└╡मो ंम┼ स ेएक होना  चािहए,जो Q के बाद चलाया जाना चािहए।

3. If R is to be operated on a day, V must be one of the programs to be operated after R. /
3. अगर R ╡ाय└╡म को िकसी िदन चलाना ह,ै तो V ╡ाय└╡मो ंम┼ स ेएक होना  चािहए, जो R के बाद चलाया जाना चािहए।



4. The last program to be operated on any day must be either S or U. अिंतम ╡ाय└╡म जो िकसी िदन
चलाया जाएगा,वह S या U म┼ स ेएक होना चिहए।

 

If the program sets R and W are to be operated on the first day, which of the following
could be the other program on that day? / अगर R और W को पहल ेिदन चलाना तय हो गया तो,िन簿윘 म┼ से
कौन सा ╡ाय└╡म उस िदन अ摮攊 हो सकता ह?ै

P,T,V

Q,S,V

Q,T,V

T,S,V

Correct Answer :­T,S,V 

26)

Question Stimulus :­

In the following ques�on, there is certain rela�onship between the first two terms. Choose the fourth term from the
following op�ons which has a similar kind of rela�on with the third term. / िन簿윘 ▀ע म┼, पहल ेतो पदो ंके बीच िकसी
▀कार स ेकोई सबंधं ह|ै िन簿윘 िवकֽो ंम┼ स ेचौथा पद चिुनय ेिजसका तीसरे पद के साथ उसी ▀कार का सबंधं ह|ै

BDAC : FHEG :: NPMO : ?

QTRS

RQTS

TRQS

RTQS

Correct Answer :­RTQS 

27)

Question Stimulus :­

The oldest oil refinery in India is at / भारत म┼ सबस ेपरुानी तले δरफाइनरी ______म┼ ह।ै

Digboi (in Assam) / िडगबोई (असम)

Haldia (near Calcutta) / हεֻया (कोलकाता के पास)

Koyali (near Baroda) / कोयली (बड़ौदा के पास)



Noonmati (in Assam) / नूंमित (असम)

Correct Answer :­Digboi (in Assam) / िडगबोई (असम) 

28)

Question Stimulus :­

Who succeeded Pandit Jawaharlal Nehru as the Prime Minister of India? / पिंडत जवाहर लाल नहे╜ के बाद भारत के
▀धानम耀ंըी कौन बन┼?

Lal Bahadur Shastri / लाल बहादरु

Indira Gandhi / इिंदरा गाधंी

Morarji Desai / मोरारजी दसेाई

Gulzarilal Nanda / गलुजारीलाल नदंा

Correct Answer :­Gulzarilal Nanda / गलुजारीलाल नदंा 

29)

Question Stimulus :­

How many times will you write even numerals if you write all the numbers from 291 to
300? / अगर आप 291 स े300 तक सभी सġंाय┼ िलखत ेह╒ तो िकतनी बार आप सम सġंा िलख┼ग?े

11

13

15

17

Correct Answer :­13 

30)

Question Stimulus :­

Who is known for the “Bhoodan Movement”? / "भदूान आ䋈祀ोलन" के िलए िकसको जाना जाता ह?ै

MG Ranade / एमजी रानाडे

JP Narayan / जपेी नारायण

Jagjivan Ram / जगजीवन राम



Vinoba Bhave / िवनोबा भावे

Correct Answer :­Vinoba Bhave / िवनोबा भाव े

31)

Question Stimulus :­

Who founded Vatapi? / वातापी की эथापना िकसन ेकी थी?

Pulakeshin II / पलुकैिशन II

Krishna Deva Raya / कृС दवे राय

Pulakeshin I / पलुकैिशन I

Raja Raja Chola / राजा राज चोल

Correct Answer :­Pulakeshin I / पलुकैिशन I 

32)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकֽ चिुनए,जो तक└ की ㈶〰िױ
स ेनीच ेिदए गए कथन के समान ह ै:

If the statement is not True, then it is False. / यिद कथन सही नही ंह,ै तो यह गलत ह।ै

If the statement is True, then it is not False / यिद कथन सही ह,ै तो यह गलत नही ंह।ै

If the statement is False, then it is not True/ यिद कथन गलत ह,ै तो यह सही नही ंह।ै

If the statement is not False, then it is True/ यिद कथन गलत नही ंह,ै तो यह सही ह।ै

If the statement is not True, then it is not False/ यिद कथन सही नही ंह,ै तो यह गलत नही ंह।ै

Correct Answer :­If the statement is not False, then it is True/ यिद कथन गलत नही ंह,ै तो
यह सही ह।ै 

33)

Question Stimulus :­

Pre­historic painted rock shelters at Chaturbhuj Nala are located in___./ चतभु└ुज नाला पर पवू└ ऐितहािसक िचि耀ըत
रॉक आ▓य ____म┼ εэथत ह╒।

Bhanpur / भानपरु

Khasrawad / खासरवाद



Raverkhedi / रावरेखड़ेी

Mahua / म╟आ

Correct Answer :­Bhanpur / भानपरु 

34)

Question Stimulus :­

What is the day on 15th August 2050? / 15 अगꎓ∀ 2050 को कौन सा िदन ह?ै

Monday / सोमवार

Tuesday / मगंलवार

Wednesday / बधुवार

Thursday / ग╛ुवार

Correct Answer :­Monday / सोमवार 

35)

Question Stimulus :­

Fixed Deposit, a financial instrument provided by banks is also known as ___ . / साविध जमा, िवΟीय ब╒को ंύारा
▀दान िकय ेगए ____साधन के ╜प म┼ भी जाना जाता ह।ै

Recurring deposit / आवत┬ जमा

Current deposit / वत└मान जमा

Term Deposit / अविध जमा

Savings bank deposit / बचत ब╒क जमा

Correct Answer :­Term Deposit / अविध जमा 

36)

Question Stimulus :­

Find out the pair which is different from the other in the following question. / िन簿윘 ▀ע म┼
वह यĵु ŵात कीिजय ेजो बािकयो ंस ेअलग ह|ै

Husband and wife / पित और पΤी

Fox and Vixen / लोमड़ी और मादा लोमड़ी



Dog and bitch / कुΟा और कुितया

King and Minister / राजा और म耀ंըी

Correct Answer :­King and Minister / राजा और म耀ंըी 

37)

Question Stimulus :­

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form
meaningful word. / श勒绺ो ंके יवεэथत अāर नीच ेिदय ेगय ेह╒| ▀έके अāर को सġंािकत िकया गया ह|ै वह िवकֽ
चिुनय ेजो साथ└क श勒绺 की रचना के िलय ेसġंाओ ंके ╜प म┼ अāरो ंका सही ╡म दतेा ह|ै

V A R S T E

1 2 3 4 5 6

2,3,1,6,4,5

3,2,4,5,6,1

4,5,2,3,1,6

6,3,4,5,2,1

Correct Answer :­4,5,2,3,1,6 

38)

Question Stimulus :­

Who was the first chairperson of India’s National Commission for Women? / भारत के मिहला आयोग की पहली
अधय्ā कौन थी?ं

Lalitha Kumaramangalam / लिलता कुमारमगंलम

Mohini Giri / मोिहनी िगरी

Jayanti Patnaik / जयतंी पटनायक

Vibha Parthasarathy / िवभा पाथ└सारथी

Correct Answer :­Jayanti Patnaik / जयतंी पटनायक 

39)

Question Stimulus :­

Which of the following belongs to the same family as Emancipate, Free and Release? / िन簿윘 म┼ स ेकौन स ेउसी पδरवार



स ेसबंोिधत ह╒ िजसस ेिक बधंनम♣ु, आज़ाद और छोड़ना?

Ignore / अनदखेा

Pardon / माफ़ी

Liberate / म♣ु

Quit / छोड़ दनेा

Correct Answer :­Liberate / म♣ु 

40)

Question Stimulus :­

When was the state of Chhattisgarh carved out of Madhya Pradesh? छΟीसगढ़ राǿ को मЄ ▀दशे स ेिवभाजीत
कर कब बनाया गया?

28th May 2000 / 28 अ▀लै 2000

1st November 2001 / 1 नव㚾鴒र 2001

24th April 2000 / 24 अ▀लै 2000

1st November 2000 / 1 नव㚾鴒र 2000

Correct Answer :­1st November 2000 / 1 नव㚾鴒र 2000 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

If ’Mobility’ is encrypted as 46293927, how is ‘Examination’ encrypted as? / यिद
’Mobility’ को 46293927 स ेएनि╡⼠牥 िकया गया ह,ै तब ‘Examination’ को कैस ेएनि╡⼠牥 िकया जायगेा?

67250623076

56149512965

45038401854

57159413955

Correct Answer :­56149512965 

2)

Question Stimulus :­



The average of 12 numbers is X. If each number is decreased by 5,then the average
becomes? / 12 सġंाओ ंका औसत X ह|ै यिद ▀έके सġंा को 5 स ेकम कर िदया जाय,े तो औसत बन जायगेा?

X

X+5

X­5

X­25

Correct Answer :­X­5 

3)

Question Stimulus :­

Three persons are walking from A to B. Their speeds are in the ra�o of 4:3:5. The �me ra�o to reach B will be/ तीन
ε♣ A स ेB तक चल रह ेह╒। उनकी गितयो ंका अनपुात 4:3:5 ह।ै B तक प╟चँन ेके िलए समय का अनपुात होगाי

4:3:5

5:3:4

15:9:20

15:20:12

Correct Answer :­15:20:12 

4)

Question Stimulus :­

In a class there are 15 boys and 10 girls. Two students are selected at random.  What is the
probability of selecting one boy and one girl? /एक कāा म┼ 15 लड़के और 10 लडिकया ंह╒। एक छा耀ը को
अिनिमयत ढगं स ेचनुा जाता ह।ै ℓा सभंावना ह ैिक चयिनत छा耀ըो ंम┼ एक लड़की या लड़का ह?ै

1/3

1/2

1/4

1/5

Correct Answer :­1/2 

5)



Question Stimulus :­

If ‘Understand’ is encrypted as 1234567823, how is ‘Start’ is encrypted? / यिद
‘Understand’ को 1234567823 स ेएनि╡⼠牥 िकया गया ह,ै तब ‘Start’ को कैस ेएनि╡⼠牥 िकया जायगेा?

56781

83243

73652

67857

Correct Answer :­67857 

6)

Question Stimulus :­

3251 x 9L = M15347

Where L & M are representing different numerals; what is M? / 3251 x 9L = M15347 जहा ंL और M िविभ켫碃
सġंाकं ह╒; तब M ℓा ह?ै

8

4

3

6

Correct Answer :­3 

7)

Question Stimulus :­

A can do a work in 6 days and B can do the same in 4 days. Both of them finish the work together and get Rs. 300.
What is the share of A? A एक काम को 6 िदनो ंम┼ कर सकता ह ैऔर B उसी काम को 4 िदनो ंम┼ कर सकता ह।ै दोनों
कम को एक समय पर परूा करत ेह╒ और उ⼼㰊┼ 300 ╜पए िमलत ेह╒। A का िह〠㐷ा िकतना ह?ै

Rs. 120 / 120 ╜पए

Rs. 150 / 150 ╜पए

Rs. 180 / 180 ╜पए

Rs. 200 / 200 ╜पए



Correct Answer :­Rs. 120 / 120 ╜पए 

8)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िन簿윘 िदय┼ गय ेचार पतो ंम┼ स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   

Wilderness Voyageurs, Inc.

P.O. Box 97

Ohiopyle, Pennsylvania 15470

(412) 329­4752

 

(i)  Wilderness Voyageurs, Inc.

P.O. Box 97

Ohiopyle, Pennsylvania 15470

(412) 329­4752

 

(ii) Wilderness Voyageurs, Inc.

P.O. Box 97

Ohiopyle, Pennsylvania 15470

(412) 329­4752

 

(iii) Wilderness Voyageurs, Inc.

P.O. Box 97

Ohiapyle, Pennsylvania 15470

(412) 329­4752

 

(iii) Wilderness Voyageurs, Inc.

P.O. Box 97

Ohiopyle, Pennsylvania 15470          

(412) 329­4752



i

ii

iii

iv

Correct Answer :­iii 

9)

Question Stimulus :­

The marked price for wrist watch is Rs. 450, but the factory supplied it to recognized dealer at Rs. 390
per watch. What is the rate of discount allowed on each wrist watch? / एक कलाई घड़ी की िचिꈆत कीमत 450
╛पय ेह,ै लिेकन फै♂री यह घडी मा摮攊ता ▀ा瑡汆 िव╡ेता को 390 ╛पय ेम┼ आपिूत└ करती ह।ै ▀έके कलाई घड़ी पर छूट की
दर की अनमुित ℓा ह?ै

14  %,30

13  %,60

10  %,70

8  %,50

Correct Answer :­13  %,60 

10)

Question Stimulus :­

What number must be subtracted from the ratio 2:5 to make it equal to 1:4? / 2:5
अनपुात को 1:4 के सम बनान ेके िलए उसम┼ स ेकौन सी सġंा घटानी चािहए?

6

3

5

1

Correct Answer :­1 



11)

Question Stimulus :­

Complete the series choosing the missing letter/s: / िवल瑡ु汆 अāर चनुकर ▓खंला को परूा कीिजए : abc
bcd cde  _  _  _

efg

def

e�

cdf

Correct Answer :­def 

12)

Question Stimulus :­

In a certain code “SCRIPT” is wri�en a “TCQIQT”. How is “DIGEST” wri�en in the same code? / िकसी खास कोड म┼,
“SCRIPT” को िलखा जाता ह ै“TCQIQT”| उस कोड म┼ “DIGEST” को कैस ेिलखा जाता ह?ै

EIGHT

TIHETT

EIFETT

TIFETT

Correct Answer :­EIFETT 

13)

Question Stimulus :­

If ‘Monday’ is encrypted as 123456 and ‘Belt’ is encrypted as 0789, how would you
encrypt the word ‘Tombay’? / यिद ‘Monday’ को 123456 स ेऔर ‘Belt’ को 0789 स ेएनि╡⼠牥 िकया
गया ह,ै तब आप ‘Tombay’ को कैस ेएनि╡⼠牥 कर┼ग?े

921056

460528

290165

460538



Correct Answer :­921056 

14)

Question Stimulus :­

A scored 30% marks and failed by 15 marks. B scored 40% marks and obtained 35 marks more than those required to
pass. The pass percentage is/ A न े30% अकं ▀ा瑡汆 िकय ेऔर 15 अकंो ंस ेअनΟुीण└ रहा। B न े40% अकं ▀ा瑡汆
िकय ेऔर उΟीण└ होन ेके िलए आवפक अकंो ंस े35 अिधक अकं ▀ा瑡汆 िकय।े उΟीण└ ▀ितशतता है

33%

38%

35%

40%

Correct Answer :­35% 

15)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the
incorrect combination: / नीच ेदी गई ▓खंला अāरो ंएव ंसġंाओ ंका अन╡ुम ▀योग करती ह|ै गलत सयंोजन
पहचािनय|े

(i) hj1t4x7t2vuwa

(ii) hj1t4x7t2vuwa      

(iii) hj1t4x7t2vuwa          

(iv) hj1t4x7t2uvwa

i

ii

iii

iv

Correct Answer :­iv 

16)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े╡म म┼ अगली आकृित
कौन सी होगी?



Correct Answer :­  

17)

Question Stimulus :­

(18x3)/2+(14/5)x10+(46/23)x16=?

79

68

87

85

Correct Answer :­87 

18)

Question Stimulus :­

Complete the series choosing the missing letter/s: / िवल瑡ु汆 अāर चनुकर ▓खंला को परूा कीिजए : a _
ccab _ c  _  _ cca _ c  _



babbcc

bcabbc

abcbbc

cbbacb

Correct Answer :­bcabbc 

19)

Question Stimulus :­

Two numbers, first and second, are respec�vely 15% and 25% more than a third number. The first number as a
percentage of the second number is/ दो सखं ्याएं‐ पहली और दूसरी तीसरी सġंा स े╡मश: 15% और 25% अिधक ह╒।
पहली सġंा दूसरी सġंा की इतनी ▀ितशत है

92%

90%

95%

None of these/ इनम┼ स ेकोई नहीं

Correct Answer :­92% 

20)

Question Stimulus :­

In how many ways can we arrange ‘n’ things in a row? / एक पिंत म┼ ‘n’ को िकतन ेतरीके स ेיवεэथत िकया जा सकता
ह?ै

(n+1)!

(n‐1)!

2n!

n!

Correct Answer :­n! 

21)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong



term. / िन簿윘 ▀ע म┼, सġंा ▓खंला म┼ एक पद गलत ह|ै गलत पद ŵात कीिजय|े  

10,18,34,68,130,258

130

258

68

18

Correct Answer :­68 

22)

Question Stimulus :­

By selling a T­shirt for Rs. 216, a shopkeeper loses 4%.For how much should he sell it to gain 12%? /
216 ╛पय ेकी एक टी­शट└ की िब╡ी करके, एक दकुानदार को 4% की हािन होती ह।ै उस े12% हािसल करन ेके िलए िकतने
म┼ बचेना चािहए?

352

552

652

25

Correct Answer :­25 

23)

Question Stimulus :­



Correct Answer :­  

24)

Question Stimulus :­

Complete the series choosing the missing number: / िवल瑡ु汆 सġंा चनुकर ▓खंला को परूा कीिजए :

60,54,48,42,________

38

36

34

40

Correct Answer :­36 

25)

Question Stimulus :­

Two trains staring from the same place run at the rate of 50 km / hr and 55 km/ hr respec�vely. What �me will they
take to be 85 km apart, if they run in the same direc�on?/ एक ही эथान स ेचलन ेवाली दो ट├ेन┼ ╡मश: 50 िकमी/घटंा और
55 िकमी/घटंा की गित स ेचलती ह╒। यिद दोनो ंट├ेन┼ एक ही िदशा म┼ चलती ह╒, तो एक दूसरे स े85 िकमी दूर होन ेम┼ उ⼼㰊┼
िकतना समय लगगेा?

16 hrs/ 16 घटंे

18 hrs/ 18 घटंे

17 hrs/ 17 घटंे

15 hrs/ 15 घटंे

Correct Answer :­17 hrs/ 17 घटं े

26)

Question Stimulus :­

If (?)3   / 4 =  (?)2, what number should replace ‘?’? / यिद (?)3   / 4 =  (?)2,  कौन सी सġंा को
‘?’ को पδरэथािपत करना चािहए?



4

6

1

2

Correct Answer :­4 

27)

Question Stimulus :­

What is the minimum number of straight lines required to make the following figure? / िन簿윘
आकृित को बनान ेके िलय े摮攊नूतम सġंा म┼ िकतनी सीधी रेखाओ ंकी आवפकता होगी?

10

13

15

9

Correct Answer :­13 

28)

Question Stimulus :­

Complete the series choosing the missing number: / िवल瑡ु汆 सġंा चनुकर ▓खंला को परूा कीिजए :

 

5,6,7,8,10,11,14,_______

15



16

17

18

Correct Answer :­15 

29)

Question Stimulus :­

In a class there are 15 boys and 10 girls. Three students are selected at random. What is the probability that both are
boys? / एक कāा म┼ 15 लड़के और 10 लडिकया ंह╒। 3 छा耀ը को अिनिमयत ढगं स ेचनुा जाता ह।ै ℓा सभंावना ह ैिक चयिनत
छा耀ըो ंम┼ दोनो ंलड़के ह?ै

91/460

95/460

97/460

99/460

Correct Answer :­91/460 

30)

Question Stimulus :­

In a certain code 2346 is wri�en as NPSU and 15789 is wri�en as XTZAL. What is the manner in which 23549 is wri�en?
/ िकसी खास कोड म┼ 2346 को NPSU िलखा जाता ह ैऔर 15789 को XTZAL िलखा जाता ह|ै 23549 को िकस तरीके
स ेिलखा जायगेा?

NCTRM

PNSTL

NPLUT

NPTSL

Correct Answer :­NPTSL 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

Select the organisms which have symbio�c associa�on / उन जीव का चयन कीिजए िजनम┼ सहजीवी सबंधं है



Bread mould and bread / █डे फंफूदी और █डे

Rhizobium bacteria and soil / राइज़ोिबयम जीवाण ुऔर मदृा

Pea plant and mycorhyza / मटर का पौधा और माइकोरिहज़ा

Rhizobium bacteria and root nodules of leguminous plants / राइज़ोिबयम जीवाण ुऔर फलीदार पौधो ंके जड़ िपΏ

Correct Answer :­Rhizobium bacteria and root nodules of leguminous plants / राइज़ोिबयम जीवाणु
और फलीदार पौधो ंके जड़ िपΏ 

2)

Question Stimulus :­

Besides Amoeba, there is an example of a single cell that can change its shape / अमीबा के अलावा, एकल कोिशका का
एक ऐसा उदाहरण ह ैजो अपना आकार बदल सकता है

Ostrich egg cell / शतुरुमगु└ अडं कोिशका

White Blood Cell / קते र♣ कोिशका

Nerve Cell / तिं耀ըका कोिशका

Muscle cell / पशेी­कोिशका

Correct Answer :­White Blood Cell / קते र♣ कोिशका 

3)

Question Stimulus :­

The value of sin 0o + cos 0o + tan 0o is _____________ / sin 0o + cos 0o + tan 0o का मान ____________ है

2

3

1

0

Correct Answer :­1 

4)

Question Stimulus :­

The area of a square ABCD with AB=16 cm is___________/ AB=16  समेी वाल ेवग└ ABCD का
ā耀ेըफल ह ै___________



32 cm2 / 32 समेी 2

64 cm2 / 64 समेी 2

256 cm2 / 256 समेी 2

512 cm2 / 512 समेी 2

Correct Answer :­256 cm2 / 256 समेी 2 

5)

Question Stimulus :­

Fermentation is the process of___________  /  िकΕन एक ▀ि╡या है

Conversion of starch in to sugar /  《晥ाच└ के श☺र म┼ पδरवत└न की

Conversion of sugar in to alcohol  /  श☺र के ए№ोहॉल म┼ पδरवत└न की

Conversion of protein in to sugar /  ▀ोटीन के श☺र म┼ पδरवत└न की

Adding yeast to make wine  /  वाइन बनान ेके िलए खमीर िमलान ेकी

Correct Answer :­Conversion of sugar in to alcohol  /  श☺र के ए№ोहॉल म┼ पδरवत└न की 

6)

Question Stimulus :­

If a point lies inside a circle, what will be the number of tangents drawn from that point to the circle? / यिद एक िबदं ुवतृ के
अ䋈祀र εэथत ह ैतो उस िबदं ुस ेवतृ पर िकतनी 〠㔱श└ रेखाएं εखचंी जा सकती ह╒?

0

1

2

infinitely many / अनЋ

Correct Answer :­0 

7)

Question Stimulus :­

What is done with the crumbs in the ploughed field /  जतु े╟ए खते म┼ मदृा के बड़ ेटकुड़ो ंका ℓा िकया
जाता है



The crumbs are collected and removed from the soil. / इनका स╣ंह िकया जाता ह ैऔर मदृा स ेहटा िदया जाता
ह ै।

The crumbs do not serve any purpose.  / टकुड़ो ंका कोई उपयोग नही ंह╒ ।

The big pieces of soil called crumbs are levelled with the leveller. / मदृा के बड़ ेटकुड़ ेिज⼼㰊┼ ‘╡㚾鴒’ कहा जाता है
उ⼼㰊┼ समतावादी ύारा समतल िकया जाता ह।ै

The crumbs do not have any nutrient.  / टकुड़ो ं म┼ कोई भी पोषक तβ नही ंहोता ह।ै

Correct Answer :­The big pieces of soil called crumbs are levelled with the leveller. / मदृा के बड़ ेटकुड़ ेिज⼼㰊┼
‘╡㚾鴒’ कहा जाता ह ैउ⼼㰊┼ समतावादी ύारा समतल िकया जाता ह।ै 

8)

Question Stimulus :­

A candle is kept in front of a plane mirror at a distance of 22 cm. The distance between the candle & the image would
be / एक मोमबΟी को समतल दप└ण के सामन े22 समेी दूरी पर रखा गया. मोमबΟी और ▀ितिब㚾鴒 के बीच की दूरी
होगी

11 cm / 11 समेी

22 cm / 22 समेी

44 cm / 44 समेी

88  cm / 88 समेी

Correct Answer :­44 cm / 44 समेी 

9)

Question Stimulus :­
Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri­Taliya. Answer the following questions using the
information provided. / िन� �ाफ ‘झमुरी तलयैा’ के छह िविभ� कॉलजेो ंम� अलग­अलग धाराओ ंअथा�त िव�ान, मानिवकी और
वािण� म� छा耀ഀो ंका 懁兀ितशत िदखाता ह।ै उपल� कराई गई जानकारी का उपयोग कर िन� सवालो ंके जवाब द�।



 
The total of the percentages of Science students in colleges A, C and D exceeds the total of the percentages of Science
students in colleges B, E and F by how much? / कॉलजेो ंA, C और D म┼ िवŵान के छा耀ըो ंका कुल ▀ितशत, कॉलजेो ंB, E और F
म┼ िवŵान के छा耀ըो ंके ▀ितशत के कुल स ेिकतना अिधक ह?ै 

– 5 %

No difference / कोई अतंर नहीं

5 %

10 %

Correct Answer :­5 % 

10)

Question Stimulus :­
Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri­Taliya. Answer the following questions using the
information provided. / िन� �ाफ ‘झमुरी तलयैा’ के छह िविभ� कॉलजेो ंम� अलग­अलग धाराओ ंअथा�त िव�ान, मानिवकी और
वािण� म� छा耀ഀो ंका 懁兀ितशत िदखाता ह।ै उपल� कराई गई जानकारी का उपयोग कर िन� सवालो ंके जवाब द�।



 
The total of the percentages of Humani�es and Commerce students in colleges B and F exceeds the total of the percentages
of Science students in colleges B, D and E by how much? / कॉलजेो ंB और F म┼ मानिवकी और वािणǿ के छा耀ըो ंका कुल
▀ितशत, कॉलजेो ंB, D और E म┼ िवŵान के छा耀ըो ंके ▀ितशत के कुल स ेिकतना अिधक ह?ै

35 %

45 %

50 %

60 %

Correct Answer :­45 % 

11)

Question Stimulus :­

While rolling a chapa� with a rolling pin ,we sprinkle dry flour on the rolling board to / बलेन स ेचपाती बलेत ेसमय,
हम चकल ेपर सखूा आटा िछड़कत ेह╒, इसिलए

Increase fric�on / घष└ण बढ़ान ेके िलए

Reduce fric�on / घष└ण कम करन ेके िलए

Add taste to the chapa� / चपाती का 㠰〰ाद बढ़ान ेके िलए

Roast it evenly on the tava / तव ेपर समानता स ेसकेन ेके िलए



Correct Answer :­Reduce fric�on / घष└ण कम करन ेके िलए 

12)

Question Stimulus :­

The male reproduc�ve organ that produces sperms is / श╡ुाण ुउतपािदत करन ेवाला नर जननागं है

Sperm duct / श╡ु वािहनी

Tes�s / वषृण

Penis / िशъ न

Vas deferens / श╡ुवािहका

Correct Answer :­Tes�s / वषृण 

13)

Question Stimulus :­

The number of solutions for the pair of linear equations x + y = 0 and 2x + 2y =
0 is _____________. / x + y = 0 और 2x + 2y = 0 रेखीय समीकरण के यĵु के िलए हलो ंकी
सġंा  ____________ह।ै   

0

1

2

Infinite / अनतं

Correct Answer :­Infinite / अनतं 

14)

Question Stimulus :­
Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri­Taliya. Answer the following questions using the
information provided. / िन� �ाफ ‘झमुरी तलयैा’ के छह िविभ� कॉलजेो ंम� अलग­अलग धाराओ ंअथा�त िव�ान, मानिवकी और
वािण� म� छा耀ഀो ंका 懁兀ितशत िदखाता ह।ै उपल� कराई गई जानकारी का उपयोग कर िन� सवालो ंके जवाब द�।



The total number of students in colleges A, B and C are 2500, 3000 and 2000 respec�vely. How many Humani�es students
are there in the three colleges taken together? / कॉलजेो ंA, B और C म┼ छा耀ըो ंकी कुल सġंा 2500, 3000 और 2000
╡मश: ह╒। इन तीन कॉलजेो ंम┼ एक साथ िकतन ेमानिवकी छा耀ը ह╒?

2875

3125

3275

3450

Correct Answer :­2875 

15)

Question Stimulus :­
Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri­Taliya. Answer the following questions using the
information provided. / िन� �ाफ ‘झमुरी तलयैा’ के छह िविभ� कॉलजेो ंम� अलग­अलग धाराओ ंअथा�त िव�ान, मानिवकी और
वािण� म� छा耀ഀो ंका 懁兀ितशत िदखाता ह।ै उपल� कराई गई जानकारी का उपयोग कर िन� सवालो ंके जवाब द�।



The total number of students in colleges C, D and F are 2000, 4000 and 3000 respec�vely. Which of these colleges has the
highest number of Humani�es students? / कॉलजेो ंC, D और F म┼ छा耀ըो ंकी कुल सġंा ╡मश: 2000, 4000 और 3000
ह।ै इन तीन कॉलजेो ंम┼ िकस म┼ सबस े〠㜷ादा मानिवकी छा耀ը ह╒?

C

D

F

Can not be determined / तय नही ंिकया जा सकता

Correct Answer :­C 

16)

Question Stimulus :­

The quadratic equation  , has _________ / िύघात समीकरण 
, के होत ेह╒

real and different / वाε㘠〰क और िविभ켫碃 मलू

equal roots / बराबर मलू

imaginary roots / काֽिनक मलू

3 roots / 3 मलू



Correct Answer :­equal roots / बराबर मलू 

17)

Question Stimulus :­

Acid rain is the result of increase in  / अќ वषा└ िन簿윘 म┼ स ेिकसकी वεृο का पδरणाम है

Dust and microbes in air / वाय ुम┼ धलू और सĈूजीव

CO2 and CO in air / वाय ुम┼ CO2 और CO

SO2 and NO2 in air / वाय ुम┼ SO2 और NO2

Dust and ozone in air / वाय ुम┼ धलू और ओज़ोन

Correct Answer :­SO2 and NO2 in air / वाय ुम┼ SO2 और NO2 

18)

Question Stimulus :­

Which one of the following in not a ruminant? / िन簿윘 म┼ स ेकौन ╜िमन╒ट नही ंह?ै

Buffalo, bull / भ╒स, साडँ

Deer, horse / िहरण, घोड़ा

Monkey, cat / बदंर, िब׃ी

Cow, ox / गाय, बलै

Correct Answer :­Monkey, cat / बदंर, िब׃ी 

19)

Question Stimulus :­

If the cost price of 12 tables is equal to the selling price of 16 tables, the loss percent is: / यिद 12 मजेो ंका ╡य­मूׂ  16
मजेो ंके िव╡य मूׂ  के समान ह,ै हािन का ▀ितशत ह:ै

30%

50%

15%

25%



Correct Answer :­25% 

20)

Question Stimulus :­
Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri­Taliya. Answer the following questions using the
information provided. / िन� �ाफ ‘झमुरी तलयैा’ के छह िविभ� कॉलजेो ंम� अलग­अलग धाराओ ंअथा�त िव�ान, मानिवकी और
वािण� म� छा耀ഀो ंका 懁兀ितशत िदखाता ह।ै उपल� कराई गई जानकारी का उपयोग कर िन� सवालो ंके जवाब द�।

The total number of students in colleges D and E are 4000 and 3500 respec�vely. What is the total number of Science and
Commerce students in both the colleges taken together? / कॉलजेो ंD और E म┼ छा耀ըो ंकी कुल सġंा 4000 और 3500
╡मश: ह╒। इन तीन कॉलजेो ंम┼ एक साथ िकतन ेिवŵान और वािणǿ छा耀ը ह╒?

4500

4700

5500

5700

Correct Answer :­5700 

21)

Question Stimulus :­

Find the perimeter of a quadrant of a circle whose radius is 7 cm. / उस वतृ के चतथुा┤श का पδरमाप ŵात कीिजए िजसकी
ि耀ըǿा 7 समेी ह।ै



44 cm / 44 समेी

11 cm / 11 समेी

22 cm / 22 समेी

44/7 cm / 44/7 समेी

Correct Answer :­

22)

Question Stimulus :­

The bile juice is not a diges�ve juice.Then why is it necessary for diges�on? / िपΟ रस पाचन रस नही ंह।ै तब यह पाचन
के िलए ℓो ंआवפक ह?ै

It helps in emulsifica�on of fat / यह वसा के पायसीकरण म┼ सहायता करता है

It gives an alkaline medium  / यह āारीय माЄम ▀दान करता है

It ac�vates the diges�ve enzymes / यह पाचन एپज़ाइम को ि╡याशील बनाता है

All the above functions / उपरो♣ सभी काय└

Correct Answer :­All the above functions / उपरो♣ सभी काय└ 

23)

Question Stimulus :­

If  , then   is equal to: / यिद   , तब   इसके बराबर ह:ै

2

7

Correct Answer :­2 

24)

Question Stimulus :­



Question Stimulus :­

Asha happened to eat food that was contaminated by housefly. To which of the following disease she is susceptible
to? / आशा न ेवह भोजन खा िलया था िजस ेम☻ी न ेदूिषत कर िदया था। इनम┼ स ेकौन स ेरोग के ▀ित वह
अितसवंदेनशील होगी?

Malaria / मलδेरया

Tuberculosis / āय रोग

Measles / खसरा

Cholera / हजैा

Correct Answer :­Cholera / हजैा 

25)

Question Stimulus :­

Large amplitude of sound vibra�ons will produce / Ѕिन कंपन के बड़ ेआयाम उΧ켫碃 कर┼गे

Feeble sound / āीण Ѕिन

Shrill sound / ती〰〰ण Ѕिन

Loud sound / ▀बल Ѕिन

Gruff sound / कक└श Ѕिन

Correct Answer :­Loud sound / ▀बल Ѕिन 

26)

Question Stimulus :­

In the given figure, AB =AC and DB = DC, find the ratio ∟ABD: ∟ACD. / दी गयी आकृित म┼,
AB=AC और DB=DC ह ैतो ∟ABD: ∟ACD का अनपुात ŵात करो।

 

1 : 1

2 : 1



1 : 2

2 : 3

Correct Answer :­1 : 1 

27)

Question Stimulus :­

Identify the bacterial disease  in which the patient loses weight,suffers from severe cough
and sometimes show blood traces in sputum  /  उस जीवाεΕक रोग को पहचािनए िजसम┼ रोगी का वजन
कम हो जाता ह,ै वह ती▒ खासंी स ेपीिड़त हो जाता ह ैऔर कभी कभी थकू म┼ र♣ आता ह।ै

Typhoid   /  टायफाइड

Tuberculosis  /  āय रोग

Polio  /  पोिलयो

Influenza / इ餓ं誐एुंज़ा

Correct Answer :­Tuberculosis  /  āय रोग 

28)

Question Stimulus :­

What is the total number of teeth in a human adult ,including wisdom teeth? / मानव י摮攊ो ंम┼ कुल िकतनी सġंा म┼
दातं होत ेह╒, िजनम┼ अ□ दाढ़ भी शािमल ह╒?

16

32

64

28

Correct Answer :­32 

29)

Question Stimulus :­

The product of this expression is ______________ /  इस पद का
गणुनफल_____________है



16/4

1/43

6/64

Correct Answer :­  

30)

Question Stimulus :­

Identify the adaptive features in a polar bear / ╫वुीय भाल ूम┼ अनकुूली लāण पहचािनये

A white fur, fat below the skin, keen sense of smell / एक सफेद फर, चम└ के नीच ेवसा, गधं की ती〰〰ण
ŵान┼ि╪य

Thin skin, large eyes, a white fur / पतली βचा, बढ़ी आखँ,े एक सफेद फर

A large body, curved sharp claws, large paws. / बढ़ा शरीर, व╡ नकुील ेपजं,े बढ़ ेपजंे

White body, paws for swimming, gills for respiration. / सफेद शरीर, तरैन ेके िलय ेपजं,े ъ वसन के िलय ेिगल

Correct Answer :­A white fur, fat below the skin, keen sense of smell / एक सफेद फर, चम└ के नीच ेवसा,
गधं की ती〰〰ण ŵान┼ि╪य 


